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A light spring is attached to a heavier spring at
one end. A pulse traveling along the light spring
is incident on the boundary with the heavier
spring. At this boundary the pulse will 1o
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A 1.00 x 10° kilogram car is driven clockwise
around a flat circular track with a radius of 25
meters at a constant speed of 5.00 m/s.
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A 1.00 x 10%ki/agram car is driven clockwise
around a flat circular track with a radius of 25
meters at a constant speed of 5.00 m/s.

If the circular track were to suddenly become

A 1.00 x 10° kilogram car is driven clockwise
around a flat circular track with a radius of 25
meters at a constant speed of 5.00 m/s.
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At the instant shown in the diaaram. the cars
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Which vector best represents the
frictional force acting 1
on the block?

The 3 0f tHe|force-laat a bageball
batexetis hall is-eu-wewtons. The

magnitude of-(he force that the ball exerts
on the bat is

A 50N
B 10N
C 50N
D 250N

resultant of 5 newtons. What is the
magnitude of each of these forces?

A oNanr-45 N
B [ana 9 N
Cc N-arid 25/
D land 50/

Abullét trayelingl at 5 0/ x 1 niete*s.per
second is brought to rest by an impulse of
50 newtoneseconds. What is the mass of
the bullet?

A 1.0x102kg
B 1.0x 10" kg
C 1.0x10'kg
D 2.5x 10*kg
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A light spring is attached to a heavier spring at A 1.00 x 10° kilogram car is driven clockwise
one end. A pulse traveling along the light spring around a flat circular track with a radius of 25

is incident on the boundary with the heavier . S

spring. At this boundary, the pulse wil' ' WhaT Ty friction force
ﬁ\\ mug! existbeiwaden the tires 250m @
1

A Otamreftested dnd thd road to pgeverit

3 hEoH the skidtiing “"
> hitted|into the hdavler $pring as i rounds the/curves 3
D scied and partially frangmifted A 1.25%105N. @ 5.00u 10° N \/
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A 1.00 x 107« 9gram car is driven clockwise A 1.00 x 10° kilogram car is driven clockwise
e around a flat circular track with a radius of 25 o around a flat circular track with a radius of 25

meters at a constant speed of 5.00 m/s. meters at a constant speed of 5.00 m/s.

If the circular track were to suddenly become At the instant shown in the diaaram. the car's
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Which vector best represents the resultant of 5 newtons. What is the
frictional force acting 1 magnitude of each of these forces?

on the block?
A oNanr-45 N

2 ﬂ
A i B [ana 9 N
B . € |20 N-arld 25/
© D land 50/
b LA h

e Tihe~ 3 of thel forge-that a bascball @ Abullét trayelingl at 5 0/ x 1 niete*s.per

batexeiis rhall iseemewtons. The second is brought to rest by an impulse of
magnitude of-the force that the ball exerts 50 newtoneseconds. What is the mass of
on the bat is the bullet?
A 50N @ A 1.0x102kg
B 10N B 1.0x10"kg
C 50N C 1.0x10' kg
D 250 N D 2.5x 10*kg
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